60

50

72

. ) " ; MAP NO.
s NI N31
[T o 9/23/2020

R
10453
2070 {44 96

78 i } 76 s[4
| 1033
333 50 25 m - 240 % I
TN DR 727563 E TILL AN DEC. RES. 124569 . g 88-10653 2 Ig XET RO AD g 8 o e 1 1 o
= 98-14927 : S DR, 724401 @ 205-45709 20191 e ) 69
| 600 ® o2 w26 205 a2y 01925218
25 40 ®
68
] — PRODUCED BY
CITY OF FORT WAYNE
) = G..S. DEPARTMENT
o %
§ R D !:| EA_‘ NOTICE: THE INFORMATION
9 < 2 DEPICTED ON THIS MAP
L2 E 2 CONCERNING LOCATION,
NES) TYPE, AND SIZE OF STREET
( ) . o w06 g o INFRASTRUCTURE IS NOT
7" 55.16 106.95 58 50 | 50 A S GUARANTEED TO BE
i © ~~ ACCURATE ORALL
g 5 26 Z INCLUSIVE. INFORMATION
- A o .
T 97 \C e 2@5 ‘: 249 53 SHOWN WAS OBTAINED
2\es 4(;9‘707 I - FROM AVAILABLE RECORDS.
05t el w L 2 FIELD INVESTIGATION
- ' SHOULD BE CONDUCTED TO
~ a R L
52884 NORTH MELODY CIRCLE DETERMINE ACCURACY.
e WY
m g<C 29 g5 % 8k 23 3 . LD
W 25 *° | Lu
/M = oz 12 o
e ;=30 gs |R22 ° : Z
= 125 0 3
V2 HANNA B 21 o - : oY, -
2 % & > < 88 W o
TILLMAN PARK WAY = 20 - m . r 3
m < Dlegz43 g LTJ e
o5 S O |88 ] ¥ -9
d 8 19 N 129.86 < =<
- F n
| % a8 o (88n42 s E >
g o | 18 — o 129.81 m g E -
. el Jlgus o O 2y
s B 3 gg|@ | 17w I PR 0 ] o wuwZ
g 19 Z 1= | [ Z Zmz
w [roh 2
$Z 4 gl @ |Be 16 8 S °  en ” LIJ ﬁ =3
P Z o| S leg 39 g [ E (</() =
80 5 23 5 |8 15 62 28| F |78 1266 E—i O w
= il 2 o © Q
© 63 & =3 38 o o
ST 6 84 Z |88 14 g[8 3 ® 12061 " <
E B s 2° ~ 129 12891~ P ° U'_] N
SR ~ 50 |82y 37 g
g2 78dg ® |38 13 g8 64 S < T ¥ 12809 E :
O 11244 A 129 10891 o 1265, [ E
()] 83 A% 3
g 88y ® SOUTH MELODY CIRCLE & 10362 ® Q 7p)
L AV I o AN
2,29 % | 716 | 720 | 802 R P
% oa ]| 712 I 77413 3%, -
5 9 &/ “dla1e 128315 325843 [y o 8 o 2
: g/ 10 g2 T TR Vo33 g 34 Ne T o o
6672 /10098 58 | 50 | 55 | 55 | 58 12833 \30.29 Q| m <
10
N
s BLOCK A g g 3 o
3 COMMON AREA By 3 = w O
\, 0 325.71 32649 / 3 A 2 ™
43 § = OO —
| LIk
- X o
PRIVATE
(PRIVATE) PETAL WAY Ok o
g3 4 Al
° L g
> o
L
‘L: TRAIL EASEMENT 2010-8840 N
s <~
-+
} 5 b O
£ e 9 8
: ) z 2
A ” < Z
¥ o w
= - -
L pzd
© -
© 3 3
23 o 4 £
POHLER DR rowe| | &|° -
emwo SNAPDRAGON C 2 @ % E
s =
I 2 zZ
= 3 %
z F =
40




